Chanel had a large bag of candy that contained 169 pieces. She wanted to divide the candy into equal amounts with her friends, Kennedy and Sydney. What fraction of candy would she have left after dividing the candy?







Rita bought two bags of Christmas candy for $4.00. She gave the cashier $10.00. How much would she get back? What is the fraction of her money that she spent?







Jolene had 96 pictures. She gave her two friends, Ashley and Peyton, 2/3 of her pictures and kept 1/3. How many pictures did Jolene give away? 
